1. Which river is believed to have originated

from the Har-ki-Dun glacier in West Garhwal
of Haryana ?

(A) Dohan

(B) Ghaggar

(C) Hanuman Ganga
(D) Saraswati

Thenursein assessing the patientdiagnosed

with bacterial meningitis observes clinical

manifestations supporting the diagnosis,

which does it suggest ?

| (A) Positive Kernig’s sign and nuchal|
rigidity

(B) Negative Chvostek’s sign and facial
tingling

(C) Positive Babinski's sign and

~ peripheral paresthesia

(D) Negative Trousseau’s sign and
nystagmus

3. How many times did Om Prakash Chautala
become the Chief Minister of Haryana ? \

N
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N
(D) 3
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_ In which psychotherapy, the patient is
directly exposed to the phobic stimulus, but
escape is made impossible ?

(A) Aversion therapy

(B) Flooding

(C) Systemic desensitization

(D) Shaping

6. Haryana State Medicinal Plant Board was
~ setup in which year ?
(A) 2003 '
(C) 2002

(B) 2005
(D) 2004

7. Study the following arrangement carefully
and answer the questions given below :
~ CUBAEDEDABEBAUCDBCAD
~ BDUBCACBEDA
How many such vowels are there in the above
are .ement each of which is immediately

/aconsonent?
(B) Two
(D) Zero

(A One.
(C) Three

8. The normal pulse rate of a 'he&i@r adult is
‘'A) 90 beats /minute (B) 110°beats/minute
C) 130 beats/minute (D) 150 beats/minute

\2@‘

*
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5. form meifafereen & rft 1 weirdios & gy

N

y a vowel and also immediately bo(b

AT -TTH T AT 8, T a2 F g
s ?

(A) foqaan fafrem

(B) FATST

(C) gatt fagaeis

(D) T

ehemon gsa stwdi arey 91 it v e
qu i T8 off ?
(A) 2003
(C) 2002

et saaeen =i e &t 3k = iy

ﬂﬂ;ﬁﬁ%tﬁ'{é :

CUBAEDEDABEBAUCDBCAD
'UBCACBEDA

mmﬁ@%w%ﬂﬁ%wﬁ

R IR SH TE AT B 7

(A) TH (B) @

(C) i (D) A

Teh TR I 1 G AR W R

(A) 90 v /fime (B) 110 WA/ fire
(C) 130 ®eA /e (D) 150 ¥ieH /fe
aft Fr=fafaa T gen & dF = F
R 31§ atera T e, @ SE-H
HE g sl =it ?

(B), 2005
(D) 2004

(A) 574 (B) 658
(C) 821 (D) 945

iftad & w1 o gl R
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11. Where is the Indian NavalAcademyl?Cated? 1. W e s Fal i 2 7 |
(A) Visakhapatnam (B) Mumbai (A) RomEmm (B) 5
(C) Ezhimala (D) Kochi (C) e (D) Ffea
12. Which among the following personality | 42, freferfiaa o & fora gfwmon =1 & Frezemel
is said to be the father of folk theatre in
i —— o1 #ed & 7
(A) Ali Baksh (B) Lakhmi Chand NELGEER (B) @Rt =&
(C) Daya Chand (D) Mukesh Yadav (C) aq-[a.a (D) W Ired
13. What measure helps in prevention of | 13. mmﬁ%ﬂﬂﬂmm%@
drying of mucous membrane during oxygen 7 AP T FH-TT I TR F & 7
administration ? Wﬁ B)
(A) Nebulisation (B) Humidification (A) (
(C) Combustion (D) Steam inhalation (C) s=d (D) W
14. Who wrote ‘Haryana Ka Itihas’ ? 14. gfamn 1 st e forar e 7
(A) Banarasi Das (A) TAREHT TH
(B) Ram Singh Jakhar (8) T fée sTEe
(C) Pandit Shri Ram Sharma (C) ¥ oft T <
(D) Pandit Neki Ram Sharma & bt T At
15. Which of the following centres of the Indus (&5 o eI ST e J @ HE-H1
~ Valley Civilisation was found in Haryana ? \(O'Q g efTom | T T !
() Bhirana ] (A) Teramerel (B) frr
(D) Al of the above (C) ey (D) I
i was 16. i § Aese fohen foneeh g SR
I e 7
(A) T foe
(B) 7 fiw
(C) e
(D) it € ,
Hary;na ié relafed wﬁth which j7. Frefafad & 9 SH-91 AR 2 & =it
| T & wwed © 7
j (A) TEn (B) At
(C) Tm T (D) Bl
Hed TR YU H HYSiNG 2 Al
B (B) igM
O
4
= P |
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l‘g) The Palk Strait is situated betw N
B g 19, ure st e o w2
- (A) India and Maldives (A) ST 3 T
- (B Ma!dwes an<.i Madagascar (B) TEAE B et
(%) In<-i|a and Sri Lanka (C) ¥ a7 s
T - (D) Sri Lanka and Indonesia (D) e 3 sSmfmn
.n What s the reason for the presence of 00, UfEISTTE 3 3 Frel U1 1 Jufefe & forg
~ golden colour of amniotic fluid ? o I S 7
(A) Rh incompatibility (A) Rh FTETAdm
o ~ (B) Preterm labour (B) THAE THA
: ? -3 (C) Postmqturity (C)
™ o ©) Oligohydramnios (D) &)
d 21. The dimension of economics that studies 21, e i @€ W@ S hftr g &
3 A how individuals make decisions to allocate e i safat gra Fota o srerm
. - limited resources is known as wAE, ?ﬁ?ﬂ?ﬂ =l
B st (A) Positive Economics ) FERTTCHS
e (B) Micro Economics Q ) 9&H awhrra
(C) Frmmes s7efaer

- (©N qﬁmatwe Economlcs ! 0
D
ive Ec o (D) FHIeaeh AL

&8 s 22‘ fx:y= 5 2then(8x+9y) (8x+@ 22, AR x:y=5:2,T(Ex+N): @Bx+2y)=7?
o (A 22:29 (B) 26: 61 (A) 22: 29 (8) 2661
| W (c),29: 22 (D) 6 (C) 29:22 (D) 61:26
£ .Whicntown is called t@errapunji of 23. mgmm;ﬁ Wﬁ‘m%?
S Haryana ? (A) STEEE @
s B) Cheeka ‘
(A) Adampur (B) | & s,

- "\"*n‘@h*hqchhraull - (D) Farakhpur

24, aﬁm%mm%@m&ﬁ“
ﬁ?ﬁﬁm e € |
(A) TEE ST (B) wfaffuc
| (o fw (D) wie=
{6 m%? '
S R (8) 47
| (©) amg (D) 8 W&
A
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L LA 34 Py g a7 e A
26. Which of the following is recognised as a | 26, f=fafad 3 soer 8 7
Bird and Biodiversity Area of Haryana ? a‘]a-ﬁq'ﬁum &7 & &9 H A=Al
(A) Bhindwas Wetland ) ﬁisaram A
(B) Basai Wetland (B)
(C) Kalesar Wildlife Sanctuary (C) &L :Tﬁ IR
(D) Al of the above (D) FoRT T
27. Which of the following is not the work of | 27. Fwifiaa & & HH-a1 id gefiad
poet Khushiram Sharma ? FlaTEia ?
(A) Rana Nimantrana | (A) Trom s
(B) Yuddha Charita (B) T& =Rd
(C) Sur Sagar (C) EMR
(D) Guru Gobind Singh (D) & Tifs &= |
| 28.  Which of the following districts in Haryana | 28, sfarom & frffaa & & fore et <t €
share its boundary with Rajasthan ? RS (21 iR ?
(A) Ambala (B) Palwal (A) JfETET (B) Ueted
(G) Mahendragarh (D) Yamunanagar ~C) HEXTG (D) G
29. When performing CPR on an adult, how 29. Th I9&h ohl .U w@ Y, BT AT
deep should the chest compression be ? _ q@gq fra == B =R ?
(A) 1% inches (B) 3% inches é}) DA B) 3w
(C) 5% inches (D) 7% inches 60 (C) 5%sa (D) 7va3w
30. A ' port transmits one bit of |7)30. 9 U 91 ¥ W fae 3w
data at a time. ®\ Td A s |
s (A) Serial (B) Parallel 6 (A) HifTs (B) New
: o are the preformatted slide | 31. H-HiHs TEs fee & =it
at help you ente@,sgﬂraphics, 3AYh! TR, Tiftherg 3R 311 <fist Y ==t
FAUARHFAE |
(A) TTEE w3TSe
(B) TTES siewH
(C) TEE Foa
 (p) T Awe
32, T o 1 =fee 1 yma w1 veen gt
YRR e o v ? | sk
(A) 2002 ~ (B) 2004
-~ (C) 2007 (D) 2018
33, ASRBHRTFAN, Btk Cc R mH A
- Aademed, AC AXRRE T omE ¢
A 12 (B) 24

Gicamt o wantw
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who among the following co-founded the | 34, freafefad § & ferem suftem <t K

34 i7amindar League’ ? gg_;mqmﬁ 7
A) Sucheta Kriplani (A) -ga'a'[
() Pandit Neki Ram Sharma (B) T bt Tyt
(c) Sir Chhotu Ram (C) BT
(D) Banarasi Das (D) AT T
35, Whichis the commonestcause of postpartum |  35. el Traard bl o T HRT &
haemorrhage ? (A) T &} AT
(A) Atonicity of uterus (B) IuSTeadl
(B) Sub involution (C) SHET
(C) Birth injury (D) greferes i
D) Puerperal blues k
: - 36. ST g T § S R
36. is the Excel term for the files . o3
you create with Excel. gl & fere e |
(A) Sheet (B) Workbook (A) ¥l (B)
(C) Cell | (D) Tab ©c)da (D) &
37. V(CO)gis 37. V(CO)g BNl &
(A) Diamagnetic (A) S
(B) Ferromagnetic (BI® .
(C) Paramagnetic (€) .
(D) Anti-ferromagnetic Q9(D) Hregerehie et
38. In addition to booting the machine, BIOS { \498. w3fa I o HH & AN, SRIE d & HT
contains another set of routines, whiohc g0 &9 i 7, S gfifa st @ T fe
ensure that the system is functioning 3 § o F TR A A > TEa
properly and all expected hardwaredevices feasw ;ﬁ:,@ 1w =\
are present. This routine is called the FE TR |
(A) Power Backup (A) UTET ama:‘q
(B) Check Device (B) = feamsd
(C) Power Device (C) U fearzm
(D) Power on Self Test (D) TTeR 37T ATH o
39, Kangaroo mother care protects the new | 30. ST HTAT TS ol Y T E |
- born from mqﬁ—?ﬁ'(&lm ggqr:w‘sﬁaﬁm
(A) Hypocalcemia  (B) Hyperglycemia (A) S (B)
~ (C) Hyperthermia (D) Hypothermia (C) BTEaRHaT (D) TTEEHT |
40. Who lead the 1857 revolt in Rohtak of a0, wfeon 3 deaw & 1857 % e F AgA |
Haryana ? Tre R ? J
(A) Raja Nahar Singh (A) TST ATET fas a
(B) Hassan Ali Khan (B) &G 3Tl W |
(C) Risaldar Bisarat Khan (C) frEmeer fSard @ |
(D) Nawab Abdur Rahman (D) Aats AsgL TeHH
- A
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: , Magnitude of drift velocity per unit electric

field is
(A) Current density

(C) Resistivity

(B) Current
(D) Mobility

42. Complete the series.

BE, GK, MR, TZ,B1, 7
(A) JR (B) KS
() Js (D) KR

_43. During pregnancy, the deficiency of which
‘ among the following leads to neural tube
defects ?
(A) Calcium
-(C) Folic acid
44. Which of the following observations indicate
‘ | that the placental separation is occurring ?
(A) Uterus stops contracting
(B) Maternal blood pressure stops
(C) Uterine shape changes from discoid
" to globular
(D) Umbilical pulsation stops

(B) Iron
(D) Potassium

utward bending of a child’é foot is

*

X

41.

42.

43.

44.

& é st ) 90 A |
BE, GK, MR, TZ, B, ?
(A) JR
(C) JS

(B) KS
(D) KR

(©)

Crforfgd & & wA-E T zgrtar @ 6

T R R @R ¢

(A) s el %k STl ©

(B) I TR T S

(C)Wﬁmﬁm%mé
Gt ®

568) - Tog] a5 S S

&

=78 R i \
T N
" )
46.

B

a8 ©) par

STeTes 3 AT & STet ht AR A0S
FHEATT ¢ |

(A) Sefrem sfaemd
(B) AW

(D?)i?ﬁqwaﬁrm"
gfemm & fFrefafad @ anf |
&) *SICETTG ST ST e ST o1 7 i
(A) T &H T

(B) TSt AT f&®

~(C) TE gAR™

s ot ekt e
S
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Wwhere is Marble found in Haryana ?
(A) Rewari (B) Gurugram
(C) Karnal (D) Mahendragarh

Which of the following surgical procedure
is not performed in the correction of
Hirschsprung's disease ?
(A) Duhamel’'s procedure
(B) Swenson’s procedure
(C) Ramstedt's procedure
(D) Soave's procedure

Which factor plays an important role in the
development of attitudes ?

(A) lliness

(B) Environment

(C) Health

(D) None of the above

In a certain code, ‘786".means ‘study very
hard’, ‘958’ means ‘hard work pays’ and
‘645’ means ‘study and work’. Which of the
following is the code for ‘very’ ?

(A) 8 (B) 6

(C) 7 (D) Cannot determine

The first movement of the foetus perceived

by the pregnant woman is termed as

(A) Lightening (B) Engagement
~(C) Quickening (D) Ballottement

Which of the following are envisaged by the
Right against exploitation in the Constitution
of India ?
i. Prohibition of traffic in human beings
and forced labour.
ii. Abolition of titles.
iii. Protection of language, culture of
~ minorities.
iv. Prohibition of employment of children
in hazardous jobs.
Which of the statements given above are
correct ?
(A) i and iv only
(C) ii and iii only

(B) i, iii and iv only
(D) i, ii and iv only

-9‘

48.

49.

50.

51.

52.

53.
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gﬁqmﬁma?ﬁtrmw%?
(A) TSt | (B) TEI™
(C) T (D) HeETE

st 3 O 1 AR L o o e
J Fr-H I AT ARl ht STt ?

(A) @Tﬁa"ﬁsﬂ?ﬁzﬂ

(B) TG i SfsHT

(C) tmee ht wisha

(D) | <t sk
ﬁ%ﬁ%ﬁmﬁﬁﬁa@ﬁ@mﬁmﬁ
T T hHA-FT R ¢

(A) ST

(B) TATaR

(C) T

(D) 3o & & IS &l

fore). ierfres o & 786 T AAeTd ‘study
very hard’, ‘958’ shT HdcTs ‘hard work pays’

., 81T ‘645’ %1 HA ‘study and work’ 8, @l

3t T # ‘very' % fora fAmferfiaga # & @41
forar ST ?

(A) 8 (B) 6

(C) 7 (D) Tot et =t wehd

Trsfarelt wifeetT g ST h S Al 9 <h
Herm TIfd © _

(A) wgefm - (ByEEE

(C) miwie (fFrefm) (D) Stiee

I % WAL o e 3 foreg, i g1
fyeaferfiga 1 ¥ freeh) TRepea T A T8 3 7
i W aEht 3R e o 1 ey |

ii. JuTfRrt ot IS |
iii. eqEEAh! Y STHT, TR T TLET |
iv. EATTH AR | sl & USHTH I
yfaee |
SR fu e A A -G TE R 7

(A) FaeT i 3R iv (B) had i, iii 3T iv
(C) Factii i (D) A i, ii 3 v
A
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54. Which type of delusion, pati
others, oneself or the world do not
(A) Delusion of guilt
(B) Nihilistic delusion
(C) Delusion of control
(D) Paranoid delusion

ent believes that
exist ?

Which one of the following is not correctly

55.
matched ?
(A) Hatigumpha Inscription — Karavela
(B) Girnar Inscription — Rudra Dhaman
(C) Gwalior Prashasti — Raja Bhoj
(D) Kara Inscription — Shivaskanda Varma

56. Which was the capital of the Vardhana
Dynasty under the rule of King Prabhakar
Vardhana ? :
(A) Kannauj
(B) Hisar
(C) Thanesar
(D) None of the above

57. Which of the following is not a component

of Health according to the holistic concept
of Health (World Health Organization)?

(A) Physical wellbeing
(B) Social wellbeing

L

G (B) thleéteatoma

Egllepgy

$
1
S

55.

56.

57. 3
BOW qieA) ¢

4

58.

: 59-

ko
[ dc

< g GehedT h TR Rad
S e o A 16§ (Fra

(A)mftaamﬁaﬁaﬁ-@m
(B)mﬁmm%mzﬁm
(C) efifer &9 @ S BT
(D)trmmmﬁaﬁsﬁ@m

Siféern &
(A) sferen

) st (B SR
(©) IRigeRiy

(D) <R

i 1878 1 e e v P g7 A

o e ¢

Iw.v!i-‘,.

(B) @i &fm
(D) wité fRrem
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+93=2025%, al

61. If13+23+ 33+ .. +93=2025, thenthe val
f(0.11)3 3 ’ ue |  61. e 13+23+33 +. ..
z,o(se to) PR P (0.99) is (0.1 + (0.22)3 + (0.33)° +... . + (099
A) 0.2695 e fopeh s B ¢
(A) 0. (B) 0.3695 (A) 0.2695 (B) 0.3695
(C) 2.695 (D) 3.695 (C) 2.695 (D) 3.695
62. Who identified the Sanctuary Potential of T % e gL I <l I
Sultanpur National Park of Haryana ? @: &I S IEa™ At ?
(B) David Attenborough (B) Sfere TeA=ll
(C) Peter Jackson (C) X ST
(D) Steve Irwin (D) & e
63. The response to a sender's message is | 63. Th YuF & w39 1 wfafsnan
called el © |
(A) Receiver (B) Feedback (A) ST (B) wfdfskan
(C) Encoding (D) Channel (C) eI (D) =
64. Which of these sites is not a UNESCO's |  64. A & PH-T1 T TR b z[hzﬁr &I fava
World Heritage Site in India ? et v e Tl 27
(A) Ajanta Caves (B) Taj Mahal A9 (A) mﬁgtmi (B) dTsT HESA
(C) Elephanta Caves (D) Bharatpur Fort b(\ " (c) uehber i TH¢ (D) gt fabett
\
65. Vyhich is the wgstem-most district in \(.7)(\> 65. TiImom i gaa =t freqr a1 a7’
Hary:na : » e (A) FATTETE (B) UHITd
(A) Fatehaba anipats
(C) Jind (D) Sirsat (C) Sfia (D) T
66. Hot applications accomplish which of the | 6. ) Wmﬁawm%?
~ following ? - (A) WA Jehell &
(A) Prevent infectj(or: ; (B) St T FH ! ©
(B) Decrease join stiffness i : :
(C) Decrease blood circulation (C) & sy .lg - ;
(D) Constricts the muscles (D) RteufEl Ryepredt
67. The temporary hardness of water can be | -67. SISt o FB@ R FTUI
removed by e ST T © |
(A) Boiling (B) Filtering (A) ISl (B) ST
(C) Disinfection (D) Chlorination (C) FmuEd F (@)
68. Among which, the magnetic susceptibility | 68 referar § & e gerehia g T
does not depend on the temperature ? A Fae ? .
(A) Diamagnetism (B) Paramagnetism (A) Sfrgehe (B) AP
~ (C) Ferromagnetism (D) Ferrite (C) SEgsh (D) g

A1-
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ﬁ B Rl iil
85, \Who is the first Sahitya Academy Award | 69, efron ¥ Ted EfEA
winner from Haryana ? AT
(A) Sundar Vilas (A) g foed
(B) Urmi Krishna (8) 3Hf FHEM
(C) Vishnu Prabhakar (C) Ters] TTeht
(D) Ali Baksh (D) AT ST o
A ' Eull
70. Whatis the synonymous of collapsing puise ? | 7g,  garelt A (P Ted) T
~ (A) Bounding pulse SSRGS
(B) Water hammer pulse | (B) et THL T¢H
(C) Pulsus alternans | (C) Ic&d FHedH{H
(D) Bigeminal pulse ‘ (D) ST T :
Sarered (- T ot
71. The Permanent Settlement (land revenue | 71. g d lelm i 9-11(?\
system) in British India was introduced by E 2 EAALURILS
(A) Charles Reed (A) =1ed U8
(B) John Shore (B) ST 9T
(C) Lord Dalhousie (C) @ Serarsit
(D) Lord Cornwallis | D&‘fé FEaT=
72. The first meeting on the Non-Cooperation S&m%mﬁ SR STEEA AR
e | 5 et o
(A) Chaudhary Lal Chand - Q,.Q (A) =herdl Tt =%
(B) Balmukund Gupt g 6 (B) STt s T
(C) Lala Lajpat Rai . \2@ (C) ATl rsId T
(p) ‘Neki Ram Sharma : - (D) w<ht TH 3t
73. fr=faRaa § @ #-a1 ¢ T8t S U7
. aEiRe
(A) weifE (B) STFER

(C)frengER (D) T & FE 7
74. mwémﬁaﬁawm%

e e ey

'Q, 2 e - (A) TR HT
M G

75, ShE S e when T A 2, R
| W%@W%mﬁmﬁﬁm% ?
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76. Which stage of Erikson’s ; .
development theory dealsp\i/)i,t?\hosoc‘al 76. iEEA %memm_m
adolescence ? o e & Hetd 37

(A) Ego - Integrity vs Despair AN —gedfeal d™
(B) Generativity vs Stagnation (A) g1 &A™ ferar
(C) Intimacy vs Isolation (B) S RS
D) Identity vs Role confusi (C)

(D) usion (D) &= S syféreht 9

77. The phase occurring immediately after | = 77. e AT W A i & H T

cessation of menstrual bleeding is called Eal Fed © |

(A) Proliferative phase (A) farrees =

(B) Secretory phase (B) @Tash =

(C) Mid Luteal phase (c) fafiis (Mid Luteal) =T

(D) Bleeding phase (D) TrETd =

78, Tartaric acid should be capable of existing | 78. TR UHS ShfEeTsaHih §9
in stereoisomeric forms. % tiieE A A wEH ¢ |
(A) Six (B) Three' (A) ©: (B) I
(C) Two (D) Five Cra (D) W=
79. The organ which separates the thoracic and 79)¢%m 3ii 35T 6T I IIF T dret AT H
abdominal cavity is known as (bb" @ed © |
(A) Lung (B) Heart QJ(\ (A) HFS (B) &7
(C) Diaphragm (D) Stomach ‘ (C) S (D) SR

80. For what value of * the statement 80. *& f3E WH & fofu I8 YA € B 7

* * " w‘\l _f_ % =

15135 \
(A) 15 (B) 25 (A) 15 (B) 25
(C) 35 (D) 45 ~(C) 35 (D) 45
—g81. What is the absolute contraindication for 81. z%-;%?aﬁaa o (—.gpﬁ?j) B ﬁ'ﬂlt{ﬁ
. Electro Convulsive Therapy (ECT) ? | ERIT_% ?
& -(A) Increased intracranial pressure (A) aeid ST 4T
. (B) Hypertension (B) 3= WadaM
(C). Hemiplegia ‘ (C) syt
(D) Tumour (D) S
.-82. Followingisan indication for administration | 82. ﬁnﬁqﬁga quf AT drgor fw 91 & feT
‘ of total parenteral nutrition T Fahd ©
(AY Pregnancy . A ?ﬂa"“iaw' Sk
(B) Acute pancreatitis (B) HARM
(C) Infancy ‘ (g)
(D) Adolescent » (D)
13- A
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Direction (Q. No. 83 and 84) : g7. e A W
In each of the following questions, out of the given EHRUES
group of words, choose the mis-spelt one. (A) =
. (B) FGATA
83. (A) Anniversary
(B) Anasthetic (C) HrEaT=
(C) Acknowledgement (D) &t frepeT TR ®
(D) Altogether
84. (A) Leprosy g8, YIS FHel HHS G BRSTER P
(B) Liesure SeE R |
(C) Lenient p
(D) Limerick RS eI Ft
(B) Gfere saehlet
85. . Fill in the blank with a suitable word from é&\ T FaHH A
“among the alternatives given below it. 60 ©)
Snow fell the hills. (05 LqpIe
A on : {b{
) N HaA i AT
(A) dg<g™ T
{B) =l
(OREEIEEICH
(D) TS
e ﬁwmﬁr | HAFRD |
(A) JHh
(B) 39H1
(C) § 9=k
(D) e
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